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 Chapter 12 
 
	Homework:
Q3. Figure 12-16 shows four overhead views of rotating uniform disks that are sliding across a frictionless floor. Three forces, of magnitude F, 2F, or 3F, act on each disk, either at the rim, at the center, or halfway between rim and center. The force vectors rotate along with the disks, and, in the “snapshots” of Fig. 12-16, point left or right. Which disks are in equilibrium? 
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	P3. In Fig. 12-24, a uniform sphere of mass [image: image4.png]= 0.80kg



and radius [image: image5.png]


is held in place by a massless rope attached to a frictionless wall a distance [image: image6.png]


above the center of the sphere. Find (a) the tension in the rope and (b) the force on the sphere from the wall. 

	


	
	
P19: To crack a certain nut in a nutcracker, forces with magnitudes of at least 40 N must act on its shell from both sides. For the nutcracker of Fig. 12-34, with distances [image: image7.png]12 om



and [image: image8.png]


, what are the force components [image: image9.png]o



(perpendicular to the handles) corresponding to that 40 N?
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P24: In Fig. 12-39, a climber with a weight of 533.8 N is held by a belay rope connected to her climbing harness and belay device; the force of the rope on her has a line of action through her center of mass. The indicated angles are [image: image11.png]


and [image: image12.png]


. If her feet are on the verge of sliding on the vertical wall, what is the coefficient of static friction between her climbing shoes and the wall?
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